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NEAL K 4 ouT I N A= S ESAN
41 | 5 H e 36 52 88 10.0 78.0
42 | B2 36 58 94 16.0 78.0
43 | AN Z 51 37 88 8.8 79.2
44 | EFHRER 59 37 96 16.0 80.0
45 HAR B 36 55 91 10.0 81.0
46 | PR OEEA 54 37 91 10.0 81.0
47 | HFEAT 52 37 89 7.6 81.4
48 | HiLE— 51 37 88 6.4 81.6
49 | R 57 37 94 11.2 82.8
50 =R L 36 63 99 16.0 83.0
51  AFE 64 37 101 16.0 85.0
52 fAdtiE 69 37 106 19.6 86. 4
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NEAE K 4 ouT I N V=0 SN Xk
1 fhHIEE 36 42 78 6.4 71.6
2 kHFHH 45 37 82 8.8 73.2
3 HEES 36 44 80 6.4 73.6
4 EHIINA 36 44 80 6.4 73.6
5 WEARE— 48 37 85 11.2 73.8
6 [EHhAs 36 48 84 10.0 74.0
7 HRIE 36 41 77 2.8 74. 2
8 PR 46 37 83 8.8 74.2
9 ARk 36 40 76 1.6 74. 4
10 JIAYE 45 37 82 7.6 74. 4
11 KL S 45 37 82 7.6 74. 4
12 | FIEF] 36 46 82 7.6 74. 4
13 | KAHA— 44 37 81 6.4 74.6
14 | MBI 48 37 85 10.0 75.0
15 | IAARFET] 48 37 85 10.0 75.0
16 KAEH 36 48 84 8.8 75.2
17 | SR 36 48 84 8.8 75. 2
18 | AT 53 37 90 14.8 75. 2
19 EHAhRET 53 37 90 14.8 75. 2
20 FHETH 46 37 83 7.6 75. 4
21 | AARBL 46 37 83 7.6 75. 4
22 | MAARERET 52 37 89 13.6 75. 4
23 | mHAFA 45 37 82 6.4 75.6
24 | HIE—ER 45 37 82 6.4 75.6
25 | HEHE— 51 37 88 12.4 75.6
26 | A HERER 51 37 88 12. 4 75. 6
27 | B E T 56 37 93 17.2 75.8
28 | RAML 43 37 80 4.0 76.0
29 | AHfiE 49 37 86 10.0 76. 0
30 | JER Y G 48 37 85 8.8 76. 2
31 PR sk 36 49 85 8.8 76. 2
32 | fh R 36 42 78 1.6 76. 4
33 K — 52 37 89 12.4 76. 6
34 | ok 36 46 82 5.2 76. 8
35 | EtERE 36 52 88 11.2 76.8
36 | HEEL 36 50 86 8.8 77.2
37 | EEET] 36 48 84 6. 4 77.6
38 | mEER 36 53 89 11.2 77.8
39 | EEIE— 36 53 89 11.2 77.8
40 | ABRE = 45 37 82 4.0 78.0
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